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Instructions for the Candidates
Write your Hall Ticket Number in the space provided on the top
of this page.
This paper consists of seventy five multiple-choice type of
questions.
At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requestedto open
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the booklet and compulsorily examine it as below :

(i) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on the
correct response against each item.

Example: @ ‘ ‘ @

where (C) is the correct response.

Your responses to the items are to be indicated in the OMR Answer
Sheet given to you. If you mark at any place other than in the
circle in the Answer Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

The candidate must handover the OMR Answer Sheet to the
invigilators at the end of the examination compulsorily and
must not carry it with you outside the Examination Hall. The
candidate is allowed to take away the carbon copy of OMR
Sheet and used Question paper booklet at the end of the
examination.

(ii)

(iii)

Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.
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Paper -l
%8 =1
1. ‘@03BE 500 H020G0N0 $0egwso’ 8

‘The science of muddling through’ or the
incremental nature of desired policy
changes is a phrase coined by

A) Y. Dror
B) R. Likert
C) Charles Lindblom

(
(
(
(D) Aaron Wildavsky

)
)
)
)

“Policy Science can be partly described
as the discipline that searches for policy
knowledge, that seeks general policy
issue knowledge and policy-making
knowledge and integrates them into a
distinct study”. Who amongst the
following is associated with the above
argument ?

A) Paul Appleby

B) Nicholas Henry

C) Michael Hill
)

D) Yehezekal Dror

(
(
(
(

The Prime Minister’s office succeeded the
office of

(A) Secretary to Governor General

(B) Secretary to the Viceroy’s Executive
Council

(C) Secretary to the Cabinet Secretariat

(D) Secretary to the Chief Executive
Council

9S00 I $I72)0 ©0DNOOW DIETRO0 e

BTISK 9555B0TE
(A) 2.0

(B) «b.855

(C) =TS do&arzo
(

)
)
)
)

D) esoo8 Derdly,

AT D0 WIFRIT, T I

ééaé§®§>, T BT8RO H502Y0H0WR DM
2502z HOIRIOw (FB5E G550 FEN0 A
TG00 30T DTFIOWHNA” BOVS Tgersdo
208 TIE° I568 $8:08 2

(A) S esHE)

(B) 2805 0

(C) 2038 S

(D) 28585 =6

. 55 1208 T3S DL 2000 03 BTS00

?U"?Se)oi)o &N ?

(A) 7550 508 526530,

(B) 20D S5 A5 50060 S0,
(C) =e@iReS ST 55y,

(D) 085 5755 oG B00¢Ed 0550,
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4,

In India, the portfolio system was
introduced by

(A) Lord Cornwallis
(B) Lord Dalhousie
(C) Lord Canning
(D)

D) Lord Wellesley

Match the following by choosing the
correct answer code.

List -1 List-II

1. State Administration A. Divisional
Commissioner

2. Regional B. District
Administration Collector
3. Revenue C. Chief
Administration Secretary
4. District D. Chairperson,
Administration Board of
Revenue
Codes :
1 2 3 4
(A) C A D B
(B) C A B D
©) A C B D
(D) A C D B

Which one of following is not one of the
Social Security Acts in India ?

(A) Workmen’s Compensation Act, 1923
(B) Employee’s State Insurance Act, 1948
(C) Employee’s Provident Fund Act, 1952
(D)

D) Industries (Development and
Regulation) Act, 1951

4. 5rE80%08° FEFPODT ITT) 00 T0

BFe300 IS 2
(A) b8 703
(B
(C
(

D) ofags

@é S

)
)
) eb°oh
)

L VODS exren §'EoS0 NoBodEo oo

e - | & 07 d) e - || & woT o
238908000,

o - | o - I

1. o0 A. &essd
SRS

2. @rodoh o B. 2 5256

3. Ty Tes C. Soogg S50y

4. e Il D. Tas7g &
253

&,

1 2 3 4

A C A D B

B C A B D

© A C B D

D) A C D B

. 208 T3IE° DO ;EB008°) FRTRE BT

D08’ 83 50 ?

(A) BUTCe P00 B0, 1923

(B) e&y00 resg a0 A0 Heyo, 1948
(C) &by a3 A6 Hego, 1952

(D) 0500 (0938, Br58:S) ko, 1951
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7. The first National Health Policy in India

7. eSS0 50S° Dooded erdaXd @6‘"?{5 IS0

was adopted in the year 230Q0NE Do
(A) 1983 (A) 1983
(B) 2000 (B) 2000
(C) 2010 (C) 2010
(D) 1987 (D) 1987
8. Match the contents of List | with those in . DO Ee0% MHB0BE0 TR erdTe e 3S )
the List Il by identifying the correct answer 0TS 27T BOCOSE) 9050 23555850,
code.
o —| e —l
List-1 List—1I
L L 1. 5 deresd . OSH0BEO 0
1. Division of work A. Unity is
strength 2. I D50 . Egdsse
2. Unity of direction ~ B. Specialization 3. (E5085 . e EBET08 o8
3. Discipline C. One head and &30
one plan
P 4. sSTyro . 28 320D
4. Esprit de Corps D. Outward eSS §§C§m
marks of
laSleb M)
respect
E. Justice ' ém@ég
tempered 856y Tgotbo
ith Ki .
with kindness gsaa .
Codes : 1 2 4
1 2 3 4
A) C B A
A) C B D A
B) A C E
B) A C D E
© B C D A © B C A
M A C E D Gy A C D
4 A-21-03 |




9.

10.

11.

Which one is NOT the characteristic of a

Prismatic Society ?
(A) Selectivism
(B) Attainment
(C) Particularism
(D)

D) Poly-functionalism

The Right to Information Act of India has
not only galvanised the administrative
system, but has also redefined the concept
of

(A) Administration
(B
(C
(D) Unity of Command

Governance

Accountability

)
)
)
)

Which of the following conditions do not
ensure the independence of the
Comptroller and Auditor General of India ?

(1) Dependence for administrative
expenses

(2) The salary and conditions of the CAG
cannot be varied to his disadvantage
after he is appointed

(3) The powers and condition of service
of the CAG are prescribed by the
President in consultation with the
Parliament

(4) The CAG can be removed by a
constitutional procedure by President

Codes :
(A) 1,3
(C) 2,3

(B) 2,4
(D) 1,4

9.

10.

11.

FEEHIZ D5Tes ©FE0 TR ?
A) dodEcso
B

(A)
(B) &
(C) g eso

(D) ex50¥ Ao SySEo

grOE JIFWG T8, WO TPOT® 55528?60
9585(‘60&330 D OYIIDITCEIOE B 8705 &S50

DHO5IOB.
(A) Jros
(B) $83rome HIEah
(C) esrentrdsdo
(D) esez DFB0

2o Te38° §o@§@6 25080500 3326 eSS e
300 AI> (S°A) Dood), VgBol® (DD
FREBOHB 07e0 I ?

(1) Jroze $5000 ST esprEdEero

(2) sPhdso, ey DbRTeDs BEIT S0l
SSETORTT H0°¢0) WO @S5E0 SO

(3) °A wRsTrEs B0 &l DADLreD

TER0LT HOEEOD TR AFanome
(4) THHTD TN IO THT° SH

5859 K009 SOR0D ISTUHE0CEIE)

&, :
(A) 1,3 (B) 2,4
(C) 2,3 (D) 1,4
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12.

13.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). In the context of
the above two identify the correct answer

code.

Assertion (A) : Neutrality has been an
important virtue of civil
service.

Reason (R):  Neutrality is a tradition
developed in Britain.

Codes :

(A) Both (A) and (R) are individually true,
and (R) is the correct explanation of
(A)

(B) Both (A) and (R) are individually true,
but (R) is not the correct explanation
of (A)

(C) (A)istrue and (R) is false

(D) (A) is false and (R) is true

A matter of urgent public importance is
brought to the notice of Parliament
through a

(A) Starred question

(B) Adjournment motion

(C) Cut motion

(D) No confidence motion

12.

13.

B0SS Boc REISDIEDD. 28ed HIFES
Assertion (A) Bocsd wreo Reason (R).

232 EHRE” 20D HOCAY §¢os MHYowco

T°0° QDRI

BOFESD (A) 1 e €30 FEE oo e
R0ME500.

e (R) 1 8005 &0 ©OSE 2020t

DoETPOX00.
&,
(A) (A), (R) 0o G 8C1E 500K
(R), (A) £ 20050m 588

(B) (A), (R) Bocr IEIEM HOWSI 50

(R) (A) £ 20050 5883 ¢
(C) (A) ey s (R) &y
(D) (A) &5y s (R) esdy

DAY o8 BEE P TS SORS w0

TG00 ()38 BHTAS GHAPNOD DS
(A) 258 575, 1%

(B) =ro0oes 5960&:60

(C) &% domo

(D) esd=ed @U"ééo
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14.

15.

16.

Social accountability initiatives were
introduced in India with the pressure from

A) MKSS
B) CRY

C
D

(A)
(B)
(C) Oxfam
(D) Seva
In which of the following countries does
the financial year begin on the 1% of

January ?
A
B
C
D

France
Sweden
U.S.A.

None of the above

(A)
(B)
(C)
(D)

In which of the following recommendations,
did the Ashok Mehta Committee differ
from the Balwantray Mehta Committee?
(Identify the answer code having the
correct answer)

(1) Two-tier system of Panchayati Raj

(2) Official participation of political parties
at all levels of Panchayat elections

(3) Zilla Parishad as the Executive body

(4) Entrusting development functions to
the Zilla Parishad

Select the correct answer using the codes

14.

15.

16.

OBRFOS” (eI TRTRE erenTdBio
DoPye2 D (S0 el BN

B (§005 DTS TIE° D DS w090 Boacsed
B0 $0 50 BOBETO EOHBOE ?

(A) &5

(B) 2ciS

(C) c.98.0.

(D) 22 °¢

80ls B8 200" 23 Do’ wFE DT
£0063 2205080755 o 520638 25B006H 2

(1) Bocd oo DoTandores 555

(2) Sowrand orfedy RSV RIS oresdod

FHeo Qs 0¥ FEHEo
(3) 5T ITogIE o e 0By
(4) D0 Do e DO STV

80¢5 2833 s (o) $5Fabos’ KO

given 23200530 MBOWOCS.
Codes : &
(A) 1,2,4 (B) 1,2,3 (A) 1,2,4 (B) 1,2,3
C) 1,2 (D) 1,3,4 (C) 1,2 (D) 1,3,4
(ks A-21-03]




17.

18.

19.

Which of the following States has made a
provision for the recall of the members of

the Gram Panchayat by the Gram Sabha ?
(A) Madhya Pradesh

(B) Karnataka

(C) West Bengal

(D) Odisha

Ramsay Mac Donald compared one of the
following officer to a tortoise on whose

back stood the elephant of the Government

of India. Who is that officer ?

(A) District Collector

(B) Governor-General of India

(C) Revenue Secretary

(D) Director General of Police

The Committee to identify the creamy layer

in 1993 was appointed under the

Chairmanship of

(A) Justice Punnaiah

(B) Justice Ram Nandan Prasad
(C) Justice Bhagawati

(D) Justice Venkatachalaiah

17.

18.

19.

VDA [0 15 57 B (s, Hrsosid)

RO [T530 2255 SO TP 28 9

(A) SocgS0E

(B) om0

(C) 23y50 Zorrd

(D) ecsx

30¢5 208 8.8 R0 T 538 B grds

BEDB0 & DMK BB AY P AT TS

PTCe. &8 QS0 I ?
(A) Bers850

(B) 2758 f5yD et
(C) TRy 55558,

(D) 2og6 et esh oo

303558y @E3R) 0801581993 &° Dobooweadts

ROPO0 9B EEBRS ATNEIOR 2

—

A) 805 %0
(B) &% 0o 506585 b
(C) ey asd
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20.

21,

22.

23.

The ‘general system theory’ owes its
origin to

(A) Max Weber

(B) Ludwig Von Bertalanfy

(C) Henri Fayol

(D) F.W. Taylor

Karl Marx regarded bureaucracy as

(A) Instrument of government

(B) A medium of policy implementation

(C) Aninstrument of rating elite for
promoting their particular interest

(D) An instrument of the nobles for
promoting their particular interest

Article 275 of the Indian Constitution deals

with

(A) Shared taxes between the Union and
the States

(B) Grants-in-aid to the States

(C) Discretionary transfer of finances to
the States

(D) None of the above
The Central Bureau of Investigation

(CBI) was established in the year 1963
under the

(A) Special Police Establishment Act,
1946

(B) Delhi Establishment Act, 1946
(C) Delhi Special Police Establishment
Act, 1946

(D) Delhi Police Establishment Act, 1946

20.

21,

22.

23.

VAT
e VSN ?o@oéo’ 65;’)0‘;)?505 5820
(A) 575y Db
(B
(C
(

)

) @&EIRTS BES

) 3R P0G

)

5 578y 15750 &S No50 03

(A) ©Badds o

(B) 5 essioen 57°¢55000

(C) Trof B STre0 0 (KBS HATWT 0
TSNS eE Desone HJDoO

(D) Pa05Te0 20 (KB (HATBT VS
TSNS 28 s

g5 TerERo8) 275 % Q50 $od 738
O BOADEN0E ?

(A) Bogs, TR Be0TTR ¢ $0t0E Hedd Shgw
0800

(B) orgosd) espsdistoho [roey Mood

©) U"%’eﬁa QREETO0S e§§§ [5E00 260
JaSteloth)

(D) 330 5%

1963 &° Horyea Dot Sodah DS 0TS
150 (CBI) B esgrdorr ot Dabecsod

(A) g5 P00 5653 Heo, 1946

(B) GO 653 0, 1946

(C) ¢ gy Fd0 5353 1eyo, 1946

(D) & Fd:20 5555 1ey0, 1946

e
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24,

25.

26.

Merit system in U.S.A. administration was

introduced following the assassination of

(A) John F. Kennedy

(B) Abraham Lincoln

(C) Ulysses S. Grant

(D) James A. Garfield

The ‘KAVERI’ programme in Karnataka is

related to

(A) L.T. Training courses

(B) Registration of Deeds

(C) Digitalization of Land Records

(D) Cauvery river water dispute

According to Chester Barnard, efficiency

relates to

(A) Achieving organizational goals

(B) Satisfying individual motives

(C) Adapting to the environment

(D) Motivating employees

24,

25.

26.

D50 55, SC0B0 HEITS TS DoaTng U"%j@

TS’ CITIGH DS (SDFGoD 9
(A) 25, 35,358

(B) e@35ro o5s

(C) 0%rd0D 5. [roes

(D) éS\)‘Q . TT°8§J€§

EReSED ‘SR 5% B HowoGoltd ?
(A) B3PI FoISE D00 Ben St
(B) eyomre 828 S (S207ed)

(C) o sere Sodnsses (Digitalization)

(D) %38 38 eere Jaedso

230 20D 5700 ‘Igse’ @od]

(A) 3598 ogrseo TRoco

(B) 258 BO3ramrots HodRsnEo
(C) $85tre% esareron Sodens’seo

(D) e&yoos @8hoto

e
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27.

28.

29.

Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R). In the context of
these identify the code which has the
correct answer.

Assertion (A): Judicial control over
administration emanates
from the principle of
judicial review.

Judicial Review means
the power of the court
to declare the laws of the
government as invalid, if
they are against the
constitution.

Reason (R) :

Codes :

(A) Both (A) and (R) are individually true,
and (R) is the correct explanation of
(A)

(B) Both (A) and (R) are individually true,
but (R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false

(D) (A)is false but (R) is true

The Inter-State Council was established
by

(A) An Executive order

(B) A resolution of the Cabinet

(C) A Constitutional provision

(D) A law passed by the Parliament

One of the theories, having a major
influence on Public Administration
discipline and profession advocates
institutional pluralism and stresses on
democratic administration. ldentify the
theory

(A) Human Relations Theory
(B) Maturity-lImmaturity Theory
(C) Acceptance Theory

(D) Public Choice Theory

27.

28.

29. 5=

80¢s Doty (RPEDO/EDD. 853 BATEI
Assertion (A) 3050 sy Reason (R).
230 SNE" e HOAWD DITFIY Eoio
FQ0RH0.

BOFEH (A): T D R0 S0l

IO P T Jooe?

SO SN

o) (R): TR0l ST oSO

D005 (5508 1T DO DB

DY VRSO THEDITTT D

SORCILO0CIR T DA,

&

(A) (A) D080 (R) Dot GG DO
35080k (R), (A) £ 8000 558

(B) (A), (R) Boc> IEIEM DOWBED T°0
R), (A) % 0030 58es 5°¢0

(R),
(C) (A)
(D) (A)&x

$0GP56 5 (R) 85
52 (R) $063050

@080 TR0 B T TH0cod
(A) 5°C5 Ao esgihossd
(B) 5865 Somdcanss
(C) Tregolf (B5ecEE
(D) rER00e5 DA HE0AE

59§06 DY) dFomred IO (@EL0ETeT
TR0 0000 G P QD (RerRH0 90D
wo@;Ké DIOTT T ) DIYRT (0505
TV 8,057, 08200 2
(A) B30 D0e0T°0 DEToBO
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30. The purpose of the writ of Habeas Corpusis | 30. %»8c05 D &5 065 %0
(A) To ensure compliance of an official (A) ©83°6 208 woliseTedy oo
duty (B) God Tamdrvo T 0062 THEdy
(B) To preventalower court from usurping OB Boneo
jurisdiction
(C) Ranss DESHOH HoRoQolS THab HOE
(C) To inquire into the legality of claim to
. . DREHOETBo0S0 JTeSer
a public office ©
D) D57 I0508 S5H05om 58 Qi
(D) To protect individual liberty against (D) I55e7 86 Agomr I BgBiosam Sz &)
arbitrary detention S0gowco
31. The idea of a senior civil service in U.S.A. | 31. @Bws6™ SAa00 HIS005%0 5700 e2005°
on the lines of the British administrative R0000% TaLed ST D070 DODEIE 005
class was first recommended by the DTS DO
(A) First Hoover Commission (A) D063 o9 S00S
(B) Second Hoover Commission (B) Docs 5o0m96 5006
(C) Taft Commission (C) wé onS
(D) Maxwell Commission (D) 5rER& 35S
32. On whose recommendations was the [ 32, >38 %3m0 D55 BETYT H000 DToE
Planning Commission set up ? (Answer DOHRIGOE DO HITEY S MHBoBEo
by choosing the correct answer code). TG0 BRLINH.
(1) S. N. Agarwal (1) 2. 8. eonbS
(2) M. Visweswarayya (2) 2. oty
(8) Jamanlal Bajaj (3) esdoSerd erezef
(4) J. C. Kumarappa (4) 8.2, D[576dy
Codes : &,
(A) 1,2 (A) 1,2
(B) 3,4 (B) 3,4
(C) 1’2’3’4 (C) 1’2’3’4
(D) None of the above (D) 22257
4 13 A-21-03|




33.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). In the context of
these identify the code which has the
correct answer.

Assertion (A): Planning Commission
has become a factor in
the erosion of State
autonomy.

Reason (R): Planning Commission
does not confine itself to
formulation of plans and
evaluation of plan

performance.
Codes :

(A) Both (A) and (R) are individually true,
and (R) is the correct explanation of
(A)

(B) Both (A) and (R) are individually true,
but (R) is not the correct explanation
of (A)

(C) (A)is true and (R) is false
(D) (A) is false and (R) is true

33.

2065 Boch EEITE0D. 853 BIJ e Assertion
(A) Bocsd w8 Reason (R). 2632 &yu&®

2628°) DO VAT §%eaoio FOQ0T0N0.

BOFES (A) 1 PeTds° 50500 T 50500

BB oD TEF
$57808.
80 (R):  Berdse Homo Herdse
EFBEYS, eTdFo IS
S000DHE BB OB T°¢H
&

(A) (A), (R)Botir S5 DEIET 2.5 So00500

(R), (A) £ $06305 56

(B) (A), (R)Botir S5 DEIET 2.5 5000500

(R), (A) £ 500 552 S
(C) (A)esp 59 (R) 85y

(D) (A) &5 = (R) ady

34. $o0 Te3E e 850 Dgows SUDD 2
34. Which of the following are NOT the
functions of the District Collector ? (1) 05 A&ser
(1) Conduct of Elections ©) ﬁezmﬁ@mm
(2) District Magistrate
_ (8) 708, ecsde HDOEEE
(3) Protection of Law and Order
(4) Issue of Industrial licenses (4) 0E=E oo ed
Codes : §%,
(A) 1,2,3,4 (B) 2,34 (A) 1,2,3,4 (B) 2,3,4
(C) 3.4 (D) 1&4 () 3,4 (D) 1 52005 4
4 14 A-21-03 |




35.

36.

The Budget Division which is entrusted
with the responsibility of preparing budget,
is located in the Department of

(A) Revenue

(B) Expenditure

(C) Economic Affairs

(D) Financial services

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). In the context of
these identify the code which has the
correct answer.

Assertion (A): A performance budget is
a budget that uses activity
classifications and
performance
measurements as its
basic organizing
principles.

Reason (R): Performance budgeting
is concerned with the
efficient use of personnel
and other resources to
accomplish the agency’s

job.
Codes :

(A) Both (A) and (R) are individually true,
and (R) is the correct explanation
of (A)

(B) Both (A) and (R) are individually true,
but (R) is not the correct explanation
of (A)

(C) (A)istrue and (R) is false
(D) (A) is false and (R) is true

35.

36.

aa%éf HOrOS ereisd 52700 2@5 Derio S
TS D

A) TET; T
B) S50 TP
C)

D)

Q£§§ :652,60“556‘7@3 TP

(
(
(
(D) 28 Vo TP

8085 Bodks PEDOIAED. 8.563 BAJED
Assertion (A) 3050 oy Reason (R).

232 NE" 2T DOAWD DITFIY Eioio
FQ0RH0.

BOFES (A) 1 ASGTTE 2355 008) TSR
505883, AP Sodroen
D3T7OF 555 AAWSTOO 0%
2G5

8o (R): 56595 egksediy

OO, BB

BS0GHOBON® ESGIPAOE

£ e3 ;6523“%) OF O

TROBEIS EGBOVREIE

QETTTE eagee.

&

(A) (A), (R) Dot 575 AEIET 3y 50000

(R), (A) £ 58630 558

(B) (A), (R) Botr 57 AEIET ey %0

(R), (A)

(

(

R), (A) £ 000 25885 525
(C) (A
(D) (A)&

)
) e 50 (R) @y
)

850 52 (R) ady

e
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37.

38.

39.

40.

The Police Act Drafting Committee, to

replace the Police Act of 1861, was

established under the Chairmanship of
in 2005.

(A) Soli J. Sorabjee

(B) Dharma Vira

(C) F.J.Nariman

(D) K.F. Rustumiji

Which one of the following is the first law
on Freedom of Information ?

(A) Right to Information Act, India

(B) Freedom of Information Act, U.S.A.
(C) Freedom of Press Act of Sweden

(D) Freedom of Information Act, U.K.
Which one of the following committees

assists the CAG in his work, that helps
control the executive ?

(A) Public Accounts Committee

(B) Estimates Committee

(C) Cabinet Committee on Finance
(D) Cabinet Committee on Defence
Which one of the following is not a
Constitutional body ?

(A) U.P.S.C.

(B) Finance Commission
(C) Election Commission
(

D) University Grants Commission

37.

38.

39.

40.

1861280:% 1gy0 508" 8 50 LFH¥ys
2005 & oryeas Totbexted 8 160 sorrans
5203 D30 e¢isEES avA0owdod 2

Y. @, e

RIS 50 H020QONN 30¢5ed Heyo Eobd
T%38° 08 2

A) gr5% SETS ), 1960

B) &85 Sooihog Trale HETmeS i) 960

C) e BB o5y &30

(A)
(B)
(C) &
(D) @S (003.) S5rwS < ~5i9) 9630

Soifed escieod e (CAG) 85 28 Aggprers”
RIFADDEG, 9 SERTErE HT) Aaboe

BoXES” SNt 506 God T3S D8 ¢
A) Be08g e oo
B

CIOTTD 00

C

(A)
(B)
(C) 2502 5020800 S8 52063
(D)

D) 5835 502000005 SoODeS 82003

800 T3S DO ToeroNeRD DO S 2
(A) 0%0.2.95.2.

(B) 0500

(C) dNFe oo

(D) g50ee0ire JoPere 3000

e
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41.

Given below are two statements, one | 41, o DEYB) Dotk TEE 2863 HSJES
labelled as Assertion (A) and the other Assertion (A) Bocso 505 Reason (R)

O .
labelled as Reason (R). In the context of

these identify the code which has the 23D CHRG” 2ERE DO BIFTEY S

correct answer code. OBOB0.

Assertion (A): Neutrallty_ls .an |mp.0|?tant 5035 (A) B35 BB HIE 9650 .8

characteristic of Civil ®
Service D0 ©Fg0

Reason (R):  The concept of neutrality oy (R): Begor g $R0s° Soohoy

originated in U.S.A. c@g@és@egs&

Codes : S

(A) Both (A) and (R) are individually (A) (A), (R)Bocr 575 AEIEM a9y 2001
correct, and (R) is the correct R, (A) & 55505 2505
explanation of (A) (R), (A) & 0ap &

(B) Both (A) and (R) are individually (B) (A), (R)Totir £t AEIGTT 255y 25000500
correct, but (R) is not the correct (R), (A) 2506305 588 5%
explanation of (A)

C) (A) e = (R) &3
(C) (A)istrue but (R) is false ©) (A)esips (R) &
(D) (A) is false but (R) is true (D) (A) 8250 (R) ey
42. Arrange the following in chronological | 42. o0& 3D Tred DToyea DT HED esSon®
order of their origin by choosing the correct TeoESoo DS, (BIZ 90D S
answer code. FBOD50).
st .. .

(1) 1 AdrTunlstratlve Reforms (1) Bo0t5e3 e B0, Se90 H050

Committee s w5
2) 500750 Ao O]

(2) 3" Minnobrook Conference @) AETS ORTE0

(3) K. Santhanam Committee (3) 3. Sowio )

(4) Sarkaria Commission (4) So7,008 om0

Codes : S

(A) 1 2 3 4 (A 1 2 3 4
B 2 3 4 1 B 2 3 4 1
€ 3 1 4 2 (C) 3 1 4 2
(D) 3 1 2 4 (D) 3 1 2 4
4 17 A-21-03|




43.

44,

45.

The emergence of the New Public
Administration is associated with which

one of the following ?
(A) Comparative Public Administration

(B) American Society of Public

Administration
(C) Royal Institute of Public Administration

(D) Minnowbrook Conference

The origins of the Modern Civil Service in
Great Britain could be traced to the

(A) Fulton Report

(B) Northcote-Trevelyan Report

(C) Crowther hunt Report

(D) McDonald Report

The principle of anonymity of the civil
servants arises out of the

(A) Principle of impersonality

(B) Principle of ministerial responsibility
(C) Principle of professionality

(D) Principle of neutrality

43.

44,

45.

A A
BB (HebEgTed edTd0 $ob TRIE” OIS
o050 EOA &odd 2

(A) BooTEE (Be08s IS

(B) &20055 el esh 988 @GBS
(C) Tradd gyl esd 598 @&é’)@i}é
(D) 03yerE Ssoiso

BeS DSSD e50dE IS e Doy

H0T0
(A) DS IHQE

(B) =8 §%5 &30gS DY
(C) &85 TroeS J26s

(D) 2E &S IO

FEE 00 DOOD WTrsHs AALH0 BIIOD

EROOB ?

(A) es:8rmss A0 to°

(B) S001@8s eriss® Aaksoo oo
(C) 8555 oo Troe

(D) &eadme doddoo e
@

e
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46.

47.

48.

Match List | with List Il by choosing the
correct answer from the codes given below

List -1 List—1I
A.
B.

1. Hierarchy Communication

2. Coordination Authority relations

3. Unity of Command C. Unity of direction

4. Gangplank D. Interrelating
various parts of
work

Codes

1 2 3 4

(A) B D C A

(B) B C D A

(C) B A D C

(D) A C B D

Transformation from traditional

administration to electronic administration
results in

(A) More computers

(B) Efficiency in operations

(C) Capacity building of the employees
(D) Electronic formatting of the files

The local government unit with the largest
geographical area in England is

(A) The Parish

(B) The County

(C) The Council

(D) The District

46.

47.

48.

RO §¢% MHB0HE0 T 233 e TED
@OTOE0 VO erTrS Q) ©0TOS eBHSHR0.

0Ee e [lete sty
1. SSrdons@el Al QPoroeen
2. 0055050800 B. «83°5 So2ogren
3. ey d8Bs0 C. Joder 580
4. rrof ok D. 2 G308, DG
2T 9000
DodHeo
&,
1 2 3 4
(A) B D C A
(B) B C D A
(C) B A D C
(D) A C B D

DORTAHTOS Q@@;é’)g JPST SFTPoHE0
O30 S5 SR H5OB0

(A) Zogr§atsh 2ebicso
(B) sgsorared’ g

(C)

(D) 290 doFIE 508’ Srge

&8y 00 99855E

OGS DN FRVE Dygo SRS VY
e08s AT DO 9
(A) 0

e
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49.

50.

Position classification can be problematic.
A serious complaint in its practice is that it

(A) Creates too fewer levels in the

organization
(B) Brings in loyalty to superior
(C) Dehumanises the employee
(D) None of the above
The 42" Amendment of the Constitution
added a chapter on
(A) The Preamble of the Constitution
(B) Fundamental Rights
(C) Fundamental Duties

(D) All the above

49.

50.

5659 PUB0E 5555m0 ST TEE,
3558908 BAL 5000005 &8 550085 T D89

(A) 55958° 8 8595 oo IoTeg:
(B) &SE A8 dagsarigoots $yokoe
(C) &B§a08 srssmrodinte AEmBotot

(D) 2% 287 02 5%

42 5 Tregol 5568 OIS 2.5 Taied) wded ?
(A) Toezso HOEDH

(B) @03 5o50) 0%

(C) DEE VeHo%H

(D) 2% 285038

51. 2508 ©5°00 Brores
51. According to Simon, communication is a
(A) a8 0572 (HE0DH
(A) Natural process
B) &6
(B) Everything B) ©
(C) Two-way process (C) 2.80537g o
(D) Upward process (D) e.5 ¢y s5009 BIED
52. The system of Police Administration in [ 52. J%0 TE3 He& oo :s?szsgeb’s 0, Ceae0 20f
India owes its existence to the reforms in PEBOE0S D) T Jrow 2505 ASEOB ?
the administrative system initiated by
(A) &S Srgohy
(A) Warren Hastings
(B) 3265592
(B) Cornwallis
(C) 2od
(C) Wellesley -
D) ¢
(D) Dalhousie D) ®
4 20 A-21-03|




53.

54.

55.

Which one of the following is a function of

the Union Pubic Service Commission ?
(A) Transfer of IAS officers
(B) Fixing the salary of Civil Servants

(C) Matters relating to Selection to

All-India Services

(D) Promoting the officers of All-India

Services

The Chief Secretary of a State is the
head of

(A) Department of Home
(B) Department of Revenue
(C) Department of Agriculture

(D) None of the above

Initiating the study of Public Administration
at the university level, by setting up an
independent department of Public
Administration and Local Self Government

in 1949, was done by the
(A) Calcutta University
(B) Madras University
(C) Nagpur University

(D) Delhi University

53.

54.

55.

52 B0 TIE" QTS 35 O EBS 20
28 9

(A) 5.2.009. 9&5°He 250
(B) FEE00 255 Ixdes

(C) @80 gr&s D000 oD Koe0OND

IOCT R

(D) oo ars8 28500 0T 0% HESD
Syt

T S00eg T30 BAS 0SS 2

(A) 557

(B) SasrgTw

(C) sSgsran 7w

(D) P %

EEDBFTOD SO0 P D5BOT0D TR0 s
Dezg0lh 000 RO BEOETER T TP
2 ETEaod’ 1949 & dGsBeo T

(e o Slater ervp i) @PSOROTHED 2
(A) Sosz: JEdmrgaio

(B) 5085070 ggorgeodo

(C) =176 dggdpado

(D) &,efg A0

e
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56.

57.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). In the context of
these identify the code which has the
correct answer.

Assertion (A): The Governor is the
nominal head and does

not have much to do.

Reason (R): He has to abide by the
decisions of the State
Council of Ministers at
all times.

Codes :

(A) Both (A) and (R) are individually
true, and (R) is the correct explanation
of (A)

(B) Both (A) and (R) are individually true,
but (R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false

(D) (A)is false but (R) is true

The objective of creating the Contingency
Fund of India is to

(A) Meet surplus expenditure of the States
(B) Manage revenue deficit

(C) Meet urgent and unforeseen

expenditure

(D) Give loans to States

56.

57.

ol Bo&o (DFLSIN). ased DAIES
Assertion (A) 3050 sy Reason (R).
2633 EHRE° 2EED DO AT §'eod

OO0,

BOTESS (A) : MSHDH THROSPED) &5,

DDTIS eQDHED T 5
D)0

859 (R): @) Soconesios eahs oo,
00[E 20060 APITOH
F0eHOTE00

&,

(A) (A), (R) 05 Botr IEIET ey 5080500

(R), (A) £ 589 2558

(B) (A), (R) oo Soco GIGT ady 520

(R), (A) £ 508 298583 5°¢5
(C) (A) e s (R) 85y
(D) (A) 8= (R) ey

PSS e3HOB0E DR AT DAL QT3 ?
(A) TP o), WHE0 HEENTe BERerensd
(B) T Seanido TR0t

(C) @830 $o0aY00 &sarosd &§30500
TN

(D) ooifo® Sered gt

e
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58.

59.

60.

Which one of the following is NOT true of
the Money Bill ?

(A) It fulfills conditions under Art.110 of

the Indian Constitution

(B) President’s prior permission is not

necessary to introduce it
(C) It has the approval of the Speaker

(D) It can be initiated only in Lok Sabha

The expenditure of the UPSC is
(A) Met from the special fund of India

(B) Charged to the Consolidated Fund of

India
(C) Charged to the Public Account

(D) Charged to the Contingency Fund of

India

Who, among the following, submitted,
report on the structure and composition
of the Council of Ministers at the Center
in 1949 ?

(A) N. R. Pillai
(B) G. S. Bajpayee
(C) A.D. Gorwala

(D) Gopalswamy lyyengar

58.

59.

60.

Be ON0% T3S (555 Do Howood O

obmgzsoo 30 ?

(A) 30 e85 Tergoi 1105 ©Q55e08d)

BEBO000 DEDE

(B) &) E2820e0e0% TS G308, S0

9:30508 @50 B¢
(C) 30 236 55508 $OADOGD

(D) &y E55e5E" 5B (TFHE
C00.2.000R.2. 50T B K006 RERePEDI 2
(A) &8s ($BE G 00k

(B) &8 $030e38 2O Bood

(C) Banss e Sood

(D) 2758 esiotns & Qoods

1949 & Sogs 500@ 50060 AToEasnd, ST
2% IO SBODYODRDHES ?

(A) a0, esb. 2

(B) 2. 000, ereson

(C) 2.6 Fioeger

(D) Arodrsd eanomd

e
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61.

62.

Match the List | with List Il by choosing the
correct one from the codes given below :

List-1 List-1I
1. Token cut motion  A. Demand reduced
by a specified
amount

2. Economy cut motion B. Demand reduced
to Re.1/-

3. Policy cut motion ~ C. Demand reduced
by Re.1/-

D. Demand reduced

to Rs.100/-
Codes :
1 2 3
(A) B A C
B D A B
(C) A D C
D) A B C

Developing countries depend for
development fund on

(A) Recovery and Reconstruction
Programme (U.S.)

(B) U.S. Aid

(C) Technical assistance from
development countries

(D) I.M.F.

61. Doocse3 TS’ o oK BOES erdTed )
@O0 O DOAYIND e §°GoS0 DoSasd

RBHSEIH0
083 e Vol e
1. %50 S S’ A. 85570&ES o
o0 QBB DooTE
q) i)
ééﬁobdéo
2. e 8 doone B &iorol o)
2.8, 8o
ééﬁo{séao
3. g Sedopsn  C. &iorok 2ngos’
2.8 S0
ééﬁobdéo
D. G570k 00T
100 EFraHe%H
ééﬁobdéo
&,
1 2 3
A B A C
B D A B
0 A D C
(D) A B C

62. DA Do) BFe e AGHe SEH B

O eSS0 ?

(A) 0556 wok 6 s535S @Firmo (U.S.)

(B) 0X20.0%. doxé&

(C) 8B D08 70 JroadE o SeE

(D) eosTdab (59590

e
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63.

64.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). In the context of
these identify the code which has the
correct answer.

Governmentis viewedas
a command and control
operation, legitimized by
the political process
which mandates it to act
in ‘the public interest’

Assertion (A):

Reason (R):  Public interest analysis
looks at areas where
markets have ‘failed’,
seek to correct this and
predicts how people
would respond in each

case.
Codes :

(A) Both (A) and (R) are individually true,
and (R) is the correct explanation of
(A)

(B) Both (A) and (R) are individually true,
but (R) is not the correct explanation
of (A)

(C) (A)is true and (R) is false

(D) (A) is false and (R) is true

The study of a unit in its totality is called

(A) Experimental study

(B) Descriptive study

(C) Exploratory study

(D)

D) Case Study

63.

64.

8oes Bock BB, 2.8l BITES (A)
Boeind 80 (R). 632 e e BN
BRTER5000) §e080 MoK

BOFER (A) 1 ©E0S50E TEDGHD
Tresdad (RIda oo (e
BATeT CTs SrO0terds
TR0 SEIGT0 SORS esex
JODORET ST GRCENT
DS,
85y (R): Rerpdiremre J30e 5705
DI ASAROB. T3
5500w S0 ; (Heed K
BEN0 P AP 0BTHE
90T D008,
&,
(A) (A), (R) Bocr ey, = (R), (A)
BOAS S
(B) (A), (R)Toco 25y, 7 (R) (A) 56005
D53 T2
(C) (A) ey 5 (R) 829y
(D) (A) &3y (R) edy

28 QO] 85 Dgrredy DORIPPOrT e9¢5siHo
DO FI° DT

(A) EEUTEEE ee5a0o
(B) SUeTE exssaiioo
(C)
(D)

SRS G000
D) 80 esciadiso

e

25

A-21-03




65.

66.

67.

The point where two axes intersect is
known as

(A) X-axis
(C) Origin

(B) Y-axis
(D) Table

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). In the context of
these identify the code which has the
correct answer.

Assertion (A) : Strike by civil servants
in India constitutes a
breach of discipline

Reason (R): A strike by government
servants in India is
prohibited by law.

Codes :

(A) Both (A) and (R) are individually true,
and (R) is the correct explanation of
(A)

(B) Both (A) and (R) are individually true,
but (R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Shadow cabinet in Britain refers to
(A) The existence of a hung Parliament

(B) The Cabinetthatis a subsidiary to the
monarch

(C) The existence of a cabinet in the
opposition

(D) A cabinet that is subject to the rule of
law

65.

66.

67.

BOCH W00 POGOIER DO FT° DOOTXD

(A) X-e950 (B) Y-e050
(C) esos0 (D) 2edx
ol Bo&o (DFLSIN. ased DAIES

Assertion (A) Bocso o) Reason (R).
263D SNE” eNED DOEH DITTE B0
E°¢50%50 MH0R)B00.

BOFED (A) 1 grEBnEed” FEE gD S0, E50
353 €000 (0B 300

ooy (R): gr08ddod” B8 S yroe $a
DOADEEO eI T
DuHoBEIE

&,

(A) (A), (R) Bosr IEIET 5y 526050
(R), (A) £ $0630:5 56

(B) (A), (R) Soir IEIEN" ey Ho00%0
(R), (A) £ 50G0 568 5%

(C) (A)exy =2 (R) &35y
(D) (A) 85952 (R) &y
DESE Al SRS BA BPDR00

(A) @338 Jgdooes (hung Parliament)

&0C0
(B) Tresd edoaioiinpsd segdined
(C) ©8ugIEE’ cols ses

(D) S0t oS eiR0ERIS TEReS

e
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68. Which one of the following is NOT a | gg. BoB 38 T D08 et D TIBE 9
@

technique of social case work ?
(A) B2 SPTR BB 85 erdoaoh
(A) Lobbying

B) g0tz s hahes
(B) Interviewing (B) g0t o
(C) Counseling (C) R8s

(D) Observation (D) 8329

69. Match the contents of List | with those in | g9, gocs RS T3 50GID ermren §EDS K00

List Il by choosing the correct answer code 3355563 2DTEED) 90T0S0 BOKS 23°8)ezoed)
List-1 List-1I 9OTOS 238D 0Cs.
1. National Commission ~A. 2006 e —| =z —
for Women
1. erdak 502w S00S A. 2006
2. Rashtriya Mahila Kosh B. 1999
S 9
(National Women 2. TRl ol §°F B. 1999
Credit Fund) (2P SBOM $5027°%° DTS YY)
3. Ministry of Tribal Affairs C. 1993 3. Adess Sgscre Soo@ss T C. 1993

4. Ministry of W d D. 1992
ity oromen an 4. % 0 efgg sooGssTe D, 1992

Child Development

Codes : §G:
1 2 3 4 1 2 3 4
(A) D B A C (A) D B A C
B D A C B B D A C B
¢ D B C A ¢ D B C A
(b) D C B A (D) D C B A
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70.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). In the context of
these identify the code which has the
correct answer.

Assertion (A): The 73"™ Constitutional
Amendment Act is a
significant landmark in
the evolution of grass-
root democratic
institutions in the country.

Reason (R): The Act brought the
Panchayati Raj
Institutions under the
purview of justifiable
part of the Constitution.
Codes :

(A) Both (A) and (R) are individually true,
and (R) is the correct explanation
of (A)

(B) Both (A) and (R) are individually true,
but (R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

70. oG Bo&o DFLSOIND. ased DAIES

Assertion (A) Bocsd sy Reason (R).
263D NG eNED DOIH DITTE B0

E°¢50%50 MH0R)S00.
BOFED (A) : BP0’ TS Herargnog Hoge

$0ETH (8008”73 % Tergol

Q583 L0 28 (DT L)
5 (R): -5 0 Somrondod ogo
Tergo SORE™ B 2.8 S350
@;@3& 59y0008.
&,

(A) (A), (R) Bocr DEIET HSOCIB 500050

(R), (A) £ $0630:5 5

(B) (A), (R)Boc> IEIGEM HOCLSD Sod0o

(R), (A) £ 500 552 S
(C) (A) 26006 20 (R) &y

(D) (A) &5y 50 (R) ey

71. Municipal area means the territorial area | 24 5039596 (9)50s) Godo e 308 HFH
of municipality as is notified by TO8 B5Ionnds o8 RS oo
(A) Governor (A) r55d
(B) Municipal Commissioner (B) ooy s200:56
(C) Municipal Council (C) HEFoE TS
(D) State Cabinet (D) op=aied
4 28 A-21-03|




72. Match the contents of List | with those in

73. Dror’s optimal model is a fusion of the

List Il by choosing the correct answer code.

List -1

1. Hawthorne

experiments

3. Principles of

organization

4. Ecological

Approach
Codes :

1

A
(B) B
D
D

(A) Economically rational model with

extra rational model

(B) Extra-rational model with input-output

model

(C) Economically rational model with

incremental model

(D) Incremental model with public choice

model

Mental Revolution

N

B
A
C

C

List—1I

A. John Gaus

B. Henri Fayol

C. F. W. Taylor

D. Roethlisberger

w

4

W > O O

D
C
B
A

72. 580305 £ 000 erdiee | 8% eoTmoid

e || 85 90708 e3dDEE050.

e —| e —l
1. FEG parmes A eSS
2. B AD%0 B. QHhone
3. 5 awsTen C. D.cien g €30b
4. 5058 CSyFo D. 6685 25b

§%,

M D C B A

73. &b eforeda KT Ded oo

(A) SrBongBs SRS SPaD e0s B
58007

(B) &)d-asmmiss S5ormrs ErdsS rHouiss
S50

(C) ©oDoode 35078 EPES THWYSS
QR

(D) EerdRShorms ErdsS eoRood 50

e
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74.

75.

Public choice is concerned with ‘Pareto
Optimity’, a concept developed by an
economist

A) Adam Smith
B
C
D

Freidman
William Pareto

Vilfredo Pareto

(A)
(B)
(C)
(D)
Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). In the context of

these identify the code which has the
correct answer code.

Assertion (A): The whole idea of span
of control has come
under scrutiny in recent

times.

Reason (R): The increasing use of
automation in
administration, the |.T.
revolution and the
growing role of
specialists are the

factors responsible for it.
Codes :

(A) Both (A) and (R) are individually true,
and (R) is the correct explanation
of (A)

(B) Both (A) and (R) are individually true,
but (R) is not the correct explanation
of (A)

(C) (A)is true and (R) is false
(D) (A) is false and (R) is true

74.

75.

N

BePRRB g5 WOeS esoed gFSHE $208Bd

€08, B BTN VPG STV eBIIG D

(A) s

(B) &H&E0S

(C) 2dawo wees®

(D) SHE oS

S0l To&o (KDL, e.8ed (DAIES

Assertion (A) Bocsd sy Reason (R).

263D NS T DOWH BRPFRBNO

E°¢5050 MH0:)B00.

BRI (A) 1 DOT0BETHE 7 oo
2550 sr00s” 285 $0808H
03°G08.

50 (R): Jrosd® arodsse waico,

RIS TSNS D0, DD

e o WERCE0 $50e3D B

L0 3°TE0.

gsgo(o .

(A) (A) D080 (R) Dot GG DO

500050 (R), (A) £ 206300 A5
(B) (A) 50800 (R) Socs GG DO
522 (R) (A) 30308 98 590

(C) (A) 5356 500050 (R) 85y

(D) (A) 83y 508050 (R) 5356

e

30

A-21-03




Space for Rough Work
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Space for Rough Work
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